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I I
oA 27 A (g) 4523.9 i 4638.5 i 47941
AOWE Y t(g/cr) 2.050 i 2.102 i 2.173
WW: | 1280.5/DW: [WW: | 1358.6/DW: W : 1388.0/DW: |
DW: | 1225.0|TW: | 197.8;DW: | 1278.0/TW: |  176.3|DV: 1290.4|TW: [ 206.3
Ty : 55.5 Ws:  1027.2)l: 80.6 Ws:  1101.7|Ww: 97.6 Ws:  1084.1,
W: 5.4 W: 7.3 W: 9.0
g o+ o 5 A4 | |
WW: | 1300.0/DW: lyw: | 1351.1/DW: W : 1321.8|DV: |
DW: | 1242.8|TW: | 180.6 |DW: | 1272.0/TW: |  179.9|DV: 1226.0|TW: | 172.5|
T 57.2Ws:  1062.2|lv: 79.1Ws:  1092.1{Ww: 95.8 Ws:  1053.5
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d 57 35 A | |
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Ww:  118.9Ws:  1094.4Ww: 112.5Ws:  845.6Ww: 184.9Ws:  1207.6
W: 10.9; W: 13.3! W: 15.3!
g o+ v = A -
WW: | 1568.8|DW: byw: [ 1299.3[pw: W 1398.9|DV:
DV: | 1432.5|TW: | 180.3IDW: | 1179.6|TW: | 179.7[DW: 1240.5/TW: [ 186.9
Ww:  136.3Ws:  1252.2[Ww: 119.7 Ws:  999.9|W: 158.4 Ws:  1053.6
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H W + /75 Wai (g) 330.270]  326.055
Waig @3S wo] == Ti(TC) 16.6 16.6
2= x(O) d v B9 9% @
Sw Ti(C) o W Zo] Wi 1.000260] 1.000260
Vai - Wi (g) ® 248.555|  249.651
Aol &% (Tx)ol digt I A %-v]H
=
fmol e Wax (g) = @ x 330.335|  326.120
2.9 F A F
HSsH + “HAZA R ) 2F
o 15+ =l 5F 346.244 | 341.963
Wh(g)
s SA4T o] JaxmHe
Yge 2 : Tx(C) PO o
xR AR T Wo (g) 25.103 25.220
T(C)Y wo Wo
59 HlF = 2.730 2.690
(TC / TC) Wo + (Wax - Wh)
2L tgt 5o W (g/cn) 0.99910]  0.99910
E 9 9 Z=(g/cr) 2.728 2.687
g 4 # 2.708 (g/cxt)
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o NFEE © Z(HES) o Al ¥ A AsA A 57
_ NO. 10RO HE RS 22 A1
: 2J2%2
ERAZE SIAZZIHMW) wAEAIZ A2 H (W)
NZ
Al (HXSI2AETAIZ+ED]) 3831.1 ¢ Wi+E21) 2 Al 1,335.1 ¢
ZIJ12A 759.5 g ZI|2A 759.5 ¢
HAAISO BIHAE2HW) 3071.6 g W1 575.6 ¢
1. 2mmAl SHAE2 &=H EF
NO 1 NO 2
o 757.0 o 671.3
Ow 675.6 Tw 206.2 Ow 598.4 Tw 175.7
Wi 81.4 s 469.4 Wi 72.9 W 422.7
W = 17.3% W= 17.2%
el 17.3%
2. WHAZANZ2A(W0) = W/ (1+w) 2618.7
3. 2mAl SHAZAIRDAH(W2)= W2=H0-W1 2043.1 g 2043. 1
4. P2.0(2L2.0mA ALl IHEEDE)= W2/Wo 78.0% 71.8%
5. 2mmXl0l €2 AIRY H=E24A
p [P 1 2 1 2=1/W0
i J ooy | 2eNEt | 2eaE cog | O1® |o® =
Mo poleg 8IS | g5e5)| =g | @7FE*| mse | as
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% 100. 0%
53.00m | 2 | 461.90 | 461.90 0.00 | 0.0% | 0.0% | 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 500.70 31.20 1.2% 1.2% 98.8%
.o | 5 | 456.80 | 509.50 | 52.70 | 2.0% | 3.2% | 96.8%
9.5mm 6 489.70 634.50 144,80 5.5% 8.7% 91.3%
4.75mm 7 524.00 679.20 155.20 5.9% 14.7% 85.3%
2omm | 8 | 448.90 | 640.60| 191.70| 7.3% | 22.0% | 78.0%
* AXAZ2RA: 575.60 ¢
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o Ald¥Hs E1l o AlddxAt 2016.3.28.
O AFFH I H(HESR) oA A A AsY 4 57
(ZBIAZTAIZH+ZD)2A 692.16 ¢ £9|8Hl(w) : 15.3%
ZI|12H : 577.00 g £o/2% (Gs) : 2.708
SIHHAZASZ2H Ws : 115.16 g AR (Pl) N.P =AHA HALIEE
HAXAIZE2H : Ws=100W; /(100+w) : 114.99 g
P2.0(2d2.0mmHlMe JIIRENUS: 78.0%
1. 2IAXTANZRS &==H EFH(XAE=HI)
NO : 1 NO : 2 NO : 3
W = 1104 .4 W = 1209.3 W =
oW = 984.0 Tw = 184.2 oW = 1074.7 Tw = 206.1 oW = Tw =
Ww = 120.4 Ws = 799.8 Ww = 134.6 Ws = 868.6 Ww = Ws =
W= 15.1% W= 15.5% W=
s =il 15.3%
2. HIZH ANE
== Z LAl 2H HEHAS ZCHAAHD(mm) 2l 2 S N il A ‘ meo| 2O
SEN i) [ZxeE [ ¢ Jmesoim] U1 T VUt | JGn/absw [E0ezEom)] oNTE [EEATR) 1 PIRSAS) Lo
10:31 1 0.0210] 0.0210 128.8 128.8 11.3473 0.0039 0.0448 25 0.0020f 0.0230 31.7% 23.7%
10:32 2 0.0185] 0.0185 133.6 66.8 8.1730 0.0039 0.0323 25 0.0020f 0.0205 28.2% 21.2%
10:35 5 0.0160] 0.0160 138.4 27.7 5.2618 0.0039 0.0208 25 0.0020f 0.0180 24 .8% 18.7%
10:45 15 0.0135] 0.0135 143.3 9.6 3.0905 0.0039 0.0122 25 0.0020f 0.0155 21.3% 16.2%
1:00 30 0.0120] 0.0120 146.2 4.9 2.2073 0.0039 0.0087 25 0.0020f 0.0140 19.3% 14.8%
11:30 60 0.0110] 0.0110 148 . 1 2.5 1.5711 0.0039 0.0062 25 0.0020f 0.0130 17 .9% 13.8%
14:30 240 0.0090] 0.0090 152.0 0.6 0.7958 0.0039 0.0031 25 0.0020f 0.0110 15.1% 11.8%
10:30 1440 0.0080] 0.0080 153.9 0.1 0.3269 0.0039 0.0013 25 0.0020f 0.0100 13.8% 10.8%
HLIAHAS EF (Cm) 0.0009 [1:2H 229 IZHA =24&1.0009HX122 0l (mm) 107.59
Ws/V (g/cm) : SEH 1me & HAXAIZ 2 12:8E 28 220 i—%ﬁ 1.0507t X1 21 2 01 (mm) 10.87
Lb : = 2229 20l (mm) 136.84
1/(Ws/V)= 8.70 cm/g Gs/(Gs—0.99678) *rw 1.583 g/om Vb : —?’—E 229 21 (o) 57.50
A HAABIHO SHEHA (o) 58.84
3. HOtE
Hl & 1 2 3=2-1 4=3/Ws 5 6 7=6%P2.0
- = H2AS+ | ©2A2
A Yz |82 25 o 5 M= &R E JIESNE |EEIJIE SsS
2| ZAlg ZFAlg
0.85mm(NO.20) 1 437.3 452 .4 15.10 13.1% 13. 1% 86.9% 67.8%
0.425mm(NO.40) 2 369.7 393.0 23.30 20.3% 33.4% 66.6% 52.0%
0.25mm(NO.60) 3 380.0 394.7 14.70 12.8% 46 . 2% 53.8% 42 .0%
0.106mm(NO. 140) 4 345 .1 365.8 20.70 18.0% 64 .2% 35.8% 27.9%
0.075mm(NO.200) 5 352.0 354.2 2.20 1.9% 66. 1% 33.9% 26.5%
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A lzemsl ™ A @ | @ | @ | @ | @ | @ | @
T (2)
3X17 40 8879 .4 4670.8| 4208.6| 2199.21| 1.914 9.1 1.754| 3
3X42 41 9184.0 4661.6| 4522.4| 2211.58] 2.045 9.1 1.874] 15
3X92 42 9295.1 4678.4| 4616.7| 2211.29] 2.088 9.1 1.914] 19
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7] 01 2k

TR J‘%(m‘fn;’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
fkg g 0 9.0 15.0 20.0 26.0 33.0 39.0 51.0 65.0 96.0|  128.0
=] == ]_]:

g0 |l 0.5 0.8 1.0 1.3 1.7 2.0 2.6 3.3 4.9 6.5
(kg f/
=] == ]_]:
CEM?;;;)L 0 0.045 0.075]  0.100] 0.130| 0.165| 0.195| 0.255] 0.325| 0.479]  0.639
fkg g 0 30.0 65.0 o1.0] 129.0] 169.0| 185.0| 246.0| 315.0 419.0| 564.0
=] == ]_

41 |SrEEEL 1.5 3.3 1.6 6.6 8.6 9.4 12.5 16.1 91.4 98.7
(kg f/
=] == ]_[:
?M“Ij;‘;n; 0 0.150  0.325] 0.454] 0.644| 0.844| 0.924] 1.228] 1.573] 2.002| 2.816
fkg f) 0 34.0 79.0] 123.0] 169.0] 229.0| 274.0 349.0 401.0] 499.0| 641.0
=] == ]_[:

U G I 1.7 4.0 6.3 8.6 11.7 14.0 17.8 20.4 95.4 39.7
(kg f/
=] == ]_[:
?M“Ij;‘;n; 0 0.170  0.304] 0.614] 0.844| 1.144| 1.368 1.743] 2.002| 2.492] 3.201
17 3 (2.5m) gg <100 = 2.4% 5. Omm 100-33 <100 = 3.2%
42 3 (2.5m) g'g <100 = 12.2% 5. Omm 110'63 <100 =  15.3%
92 3 (2.5m) éé <100 = 16.6% 5. Omm 120-03 <100 = 19.4%
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